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Past

Where now stands that small knot of villages known as The Endians, a mighty forest once stood.
Indeed, legend has it that you could have stood on the edge of the wood and seen it stretch out for
miles, were it not for the trees getting in the way.

In one section of the forest, the trees stood in a row and were of height from 1 to n, each height
occurring once and once only. A tree was only visible if there were no higher trees before it in the
row. For example, if the heights were 3 2 4 1 6 5 the only visible trees would have been those of
heights 3, 4 & 6.

Write a program that, given the number of trees, the positions of some trees, and the number of
visible trees, determines the number of possible orderings for the trees. The first line will contain
three integers: the number of trees n (1 < n < 20), then the number of fixed trees p (0 < p < n),
and finally the number of visible trees v (1 < v < m). The next p lines will each contain a pair of
integers, the height of a fixed tree followed by its position; the first position, on the left, is position
1 (not 0).

You should output a single integer, the number of possible arrangements of the n trees, with the
given restrictions, with exactly v visible trees. No test will require output above 23,

Sample Input

6 24
32
54

Sample Output
4
(The following 4 orderings are valid: 132564, 132546, 231564 and 231546)

THERE IS SIGNIFICANT CREDIT FOR A PROGRAM THAT CAN SOLVE TESTS, WITHIN THE BOUNDS,
WITH 0 FIXED TREES, OR WHERE ALL THE FIXED TREES ARE ADJACENT TO THE EDGES OF THE ROW.



